= H
N = 0 & AF S & A A
20218 &= 20l A LEHSH & A
SN AL
Mz IAE II2EE XM
Ctl: JI2AHl 22 (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o8 %Eﬁ HRE2
241 20,397,491 20,671,981 A274,490
2 872,105
g 1,679,000
< 1,771,913
= 16,074,473
WEE JiZ2etd X4 756,073 1,393,406 A 637,333
o= 3,308
= 752,765
2 A4H| 22 756,073 1,393,406 A 637,333
o= 3,308
= 752,765
AN 29 J|=244| 88,749 96, 167 AT ,418
201 et 9| 78,649 83,067 A4 418
01 AP 2t 2] H| 15,674 15,352 322
Okzadd 22 HE 484,000 x23| 968
OFMARE 2¢) 225,000 x2= %103/ 4,500
OEFP=EE XNz 2,800,000& 2,800
O&=xJ & BIIEAD| Xl XK= 2,606
— &0 XY 50,200& *2CH x12& 1,205
— Z2J|F 3D X 38,900& *30 12& 1,401
Osotd R F& ZEH| 8,000 x20% x30 4,800
02 E32%H| 62,975 67,715 N4, 740
OE2E22 DAAN 25 22,1302 x15021 x23| 639
OEzdHE 24D 282 350, 000& =304 1,050
OEZHHIE AIR4A dIIRZ2 650,000 «12& 7,800
O dHl &Hl SFU(EE € seR) 17,026
38 1,260.64& x2,0004 =404 10,086
—Fge 1,360.702 x1,7004 =3CH 6,940
OAEZHI (Z240]) S X4l 5,000,000 =4CH 20,000
OMAEZH SX22E(&ED] 2 38)
130, 000& =104 CH 13,520
OHZIZA AEtE42 60,000& 70L& X| *70% 2,940
202 o4l 5,000 8,000 A 3,000
01 2L Hl 5,000 8,000 A 3,000
OHEHYE HIRFA 5,000,000& 5,000
203 €2 F=&d| 1,500 1,500 0
03 Al ZH =X 2= XIH| 1,500 1,500 0
Oz 9 g9 2 E8HLR =X
1,500,000 1,500
305 A2 S 3,600 3,600 0
01 HIASS 3,600 3,600 0
OEXMEZ X3 300,000 x12& 3,600
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Fag=n;
HEE 2EE =4
Jr2EHl 2el (&)
= _ — d =
SN FE - EA(SA) - MEAY - BES 0l &t o il HImEET
WSEXTAL 2 3,676 3,420 256
< 3,308
s 368
101 @14 Hl 3,676 3,420 256
< 3,308
s 368
04 JIZHHZ2XNHEE S 3,676 3,420 256
O&= nNEsgdxA 2 91,900& 40X 3,676
< 3,308
= 368
HEE M+ 57,074 114,550 ABT,476
206 M= Hl 57,074 114,550 ABT,476
01 M= 4l 57,074 114,550 ABT,476
gdatzsrY 300,000 65 19,500
Aotz & (L) 20,000 *300%£ 6,000
ON&E 43 180,000& x65& 11,700
ON&E 2 20, 100& »740m* 14,874
2e=0u 200& x25,0000H 5,000
M Xz 142,506 130,959 11,547
201 Lt 135,850 124,303 11,547
01 At 22l 135,850 124,303 11,547
ON&ZEH gtz 5,000,000& «5CH+3& 75,000
OM&ZE dXUE(SY) 60,850
—H&EH 1E Xz 4,900,000 »10CH 49,000
— M& &Y 5& Xz 5,925,000 »2CH 11,850
302 Ol THoH E &F = 6,656 6,656 0
02 QIZHITHOH R EFRESE L= 6,656 6,656 0
O8.9 MESAU =28l 8,000&*104F 8L 6,656
HMEZH(ESH) BRI 10,400 10,400 0
301 LEEAS 10,400 10,400 0
12 JIE24 =3 10,400 10,400 0
OMEXHI(ESXHH)EE XA 100,000 *104CH 10,400
SZEA®H 44X 32,000 52,000 20,000
401 AIEHI L 20 32,000 52,000 220,000
01 A& bl 32,000 52,000 220,000
OEZ0I12E &l 4,000,000 *8H 2~ 32,000
HEQA AN 2 43,300 98,917 AB5,617
201 €2l 2,400 0 2,400
01 At 22l 2,400 0 2,400
OEzzeld MRA 22l 200,000& x123] 2,400

- 418 -




i
e Jl2Ed X4
23y 2ol el E )
= - — SHE]|
SN FE - EA(SA) - MEAY - BES 0l &t o il HImEET
206 M= Hl 40,900 57,500 A 16,600
01 =8l 40,900 57,500 A 16,600
= Xt TH 100,000& *4004 103 40,000
(OFE Ty 30,000 *30= 900
t2S AREX & 2NN 2¢ 363,368 533,582 A170,214
201 Let249] 26,000 21,500 4,500
02 2324l 26,000 21,500 4,500
ONZES AN AAE KUY
50,000& 400 20,000
OHZ 2ots KRALB+3AL 300,0008 205 6,000
206 M= Hl 67,200 67,200 0
01 =8l 67,200 67,200 0
OEots +& T 22,500
—JteA 30,000 2004 6,000
— It A3ttt 35,0002 *300H 10,500
—&d 1,200& *5,000m 6,000
O&XA ZED| 149, 0002 3004 44,700
401 Al Bl 28I 270,168 444,882 A174,714
01 A& HI 268,000 441,692 A 173,692
ON2s SFANEFSA 600,000& x100S 60,000
OS.2 % HAHE AR N2 EXBAHLED
g) 3,000,000 20 60,000
ONE TY2 II2S S XIBAH(LEDS)
3,000,000& 20 60,000
OY2 2 3M NP IH2ES &XBAH(LEDS)
3,000,000& 155 45,000
OFU=JAANY JIIZ2S HXNBM(EFS) 6,000
—&F0tS JI2S &XI(LEDS)
3,000,000& 15 3,000
—ga0ts 128 &XI(LEDS)
3,000,000& *15 3,000
OSEN 22 ADE HIANE BN
25,000,000 =10 2 25,000
OREW =Mz RS SXZA
3,000,000& 45 12,000
03 A& S THHI 2,168 3,190 N 1,022
OJt2s BEx3At 301,000,000& *0.72% 2,168
AN YEFAES /s A 7 15,000 0 15,000
405 TtobF S| 15,000 0 15,000
01 et EFSFHSHI 15,000 0 15,000
OA& HRFE ARE SAI 2
15,000, 0002 »1CH 15,000

- 419 -




EXN: A4
T AR
R TAHEEZZ ()
- _ _ RE]
SA BB (3H) - NRAY - B S Ol At o %Eﬁ HRE2
SAIOHE 3,725,546 5,871,914 N2,146,368
= 686, 146
= 50,000
= 2,989,400
SAAHEEZZ 3,625,546 3,207,914 417,632
= 686, 146
= 2,939,400
TAHE 29 J|2&H| 74,445 91,404 AN 16,959
201 et 63,256 73,920 AN 10,664
01 AFR 2t 2| bl 13,560 16,550 A 2,990
Oz HES MEB10E
1,320, 0003 *2H A~ %43 10,560
Oy A28 L AMRES 7
375,000 83| 3,000
02 2% H| 49,696 57,370 NT,674
OZANHEEHEMAHAANAE(UPIS) SXRES 29,900
—AZTEQN ¢ 222 931,666& x12& 11,180
—olEANH & GISAU A 1,560,000 x12& 18,720
OZAHEAALE JIZ2E S dIR2
9,497 .52 x150E+12& 17,096
ONHEAHI R ALZAIHY HEH|(H3lH|)
700,000 *13] 700
OWUstoI =2 AHU T AIE 93 H3lH|
2,000,000 *13] 2,000
202 04| 3,900 4,000 A 100
01 2L I 3,900 4,000 A 100
OZANHE E g2FX 3,900,000& 3,900
305 HHAZ2S 7,289 984 6,305
01 HIASS 7,289 984 6,305
ORgY0s=2 48 EXIAMNESE XS
607,400 x12& 7,289
A2 TAIJIZE HHALY 200,000 331,510 A 131,510
401 AIEHIZ 2 0HY| 200,000 331,510 A 131,510
01 Al&H| 198,560 329,350 A 130,790
OA7E TAHEANE dH ¥ B
19,856,000 1004 &~ 198,560
03 AlE 20| 1,440 2,160 ANT20
OAARZ TAHEAE HH ¥ B
200,000,000 *0.72% 1,440
ANESHA e d9EA 366,978 40,000 326,978
401 AlEHIZL £ 0HY| 366,978 40,000 326,978
01 Al&H| 365,498 40,000 325,498
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A AL
HE: T AR
Eel SAAHEEZ (=& J)
— SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OANSEHHA DE(ZAXNY W) ELEZ3AM
51,374,500 *40H 2~ 205,498
ONSHHY D(TATY ) JYAHEC
80,000,000 *2H 2~ 160,000
03 AIE 2 0HHI 1,480 0 1,480
OANSYHUHA D (EAXY W) 22
205,498,000& *0.72% 1,480
SAHETZ &AM 2,097,977 2,170,000 AT2,023
401 Al & I 28I 2,097,977 2,170,000 AT72,023
01 A& HI 2,089,152 2,161,171 AT2,019
OREH ZE=2Z3-3 TAMNHEZZ HESA
5,640,970& *200m*76 . 3962% 861,898
OR=E2H =234 TAMNHEZZ HESAM
3,932,043.33& *600m*30.82595% 727,254
OMSZE~4HAD el X XSsAY
833,333.33& *600m 500,000
03 AlE 2 THHI 8,825 8,829 N4
ORE2H ZE=23-3 TAMNHEZZ HESAM
861,898,000& *0.72% 6,206
OREH SZ34 SANHEZZ HEBA
727,254 ,000& *0.36% 2,619
SAHEANSE 22X 022X HY 200,000 200,000 0
401 AIEHIZ 28I 200,000 200,000 0
1 A&l 200,000 200,000 0
OZAIAHEAE 2X 022X 01
20,000,000& =10& X 200,000
20204 7.28.~8.11. MHolS2AIL(ZAIHEEZ) 686, 146 0 686, 146
= 686, 146
401 Al BIZ 201 8] 686, 146 0 686, 146
= 686, 146
01 A& HI 686, 146 0 686, 146
02020 7.28.~8.11. S RIOlol 2a~F 42t &
ANMABEZE =23 AL 610,993& *1,123m 686, 146
= 686, 146
Nz 100,000 2,664,000 A 2,564,000
as 50,000
i 50,000
N+ ASIJAY 50,000 1,700,000 A 1,650,000
as 50,000
401 Al Bl 28I 50,000 1,700,000 A 1,650,000
s 50,000
01 A& HI 50,000 1,693,880 A 1,643,880
OBICl #=wel BAE ZLAY
842,501.07& 4,654 m x1.27518% 50,000
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fN: AL
S S AN
Sl NERHNY EERED
= _ — d =
SN FE - EA(SA) - MEAY - BES 0l &t o il HImEET
| e 50,000
22 TASE 22 50,000 0 50,000
401 Al HI R 201 I 50,000 0 50,000
01 A& Hl 50,000 0 50,000
ORF= ZASE 22 50,000
~HERNY U FBE SUBL
19,000,000& 22 | 38,000
—ANEE B+ 2,400,000 *50H A~ 12,000
SE AS)|E &S5 7,639,673 8,637,639 A 997,966
= 53,904
= 1,252,405
i 6,333,364
SO MA JIBHE I 271,000 947,501 A 676,501
< 153,900
[ia 117,100
2B (S0tRe & JISES)(MEAY 111,000 443,000 A 332,000
< 99,900
[ia 11,100
401 AIEHI L 20 111,000 443,000 A 332,000
< 99,900
s 11,100
01 A& HI 111,000 443,000 A 332,000
ODlg HHlIA 111,000
—&3X+ 10,090,909& x11ha 111,000
< 99,900
s 11,100
SHE MESZIY (HBAIY) 100,000 154,501 A 54,501
401 Al HIZ 2018 100,000 154,501 A 54,501
01 A& HI 100,000 154,501 A 54,501
O=8% wg I3 A EXE4
10,000,000& = 10Z X 100,000
=9 €= MHIXI& At 60,000 0 60,000
< 54,000
s 6,000
401 A& HIZ 201 Y] 60,000 0 60,000
< 54,000
[ia 6,000
01 A& HI 60,000 0 60,000
=9 EXE THHXJAAMS(ZHSKF)
24,000,000& *2.5ha 60,000
< 54,000
e 6,000
SEE+ WY 1,339,810 1,937,850 A 598,040
S 789,100
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2N

]

Fas|
M =& AST|Y HE
89 =8+ e (&)
= _ — d =
SN FE - EA(SA) - MEAY - BES 0l &t o il HImEET
o 550,710
2l AN (HE2FES) 240,000 290,000 A 50,000
301 LEXZ 90,000 90,000 0
12JEEd=S 90,000 90,000 0
OS82 L Y+IHIE K&
39,682.53 %1892 +12& 90,000
401 A& HI K 201 I 150,000 200,000 50,000
01 A& HI 150,000 200,000 A50,000
OsS2y 2 ¥4+3 RAL
5,000,000& 203 100,000
OM=X M SXZclA 735,294 680 & 50,000
Jlgtxd 29 J123l 2,810 9,850 AT,040
201 Lt 810 5,850 A5,040
01 At 2t 2l 810 1,350 A 540
OXZgly & #RH 4258 #¢
81,000& 103 810
202 Oddl 2,000 4,000 A 2,000
01 = LH 4 Hi 2,000 4,000 A 2,000
OJigtxzd 2 J1=2ZH 2,000,000& 2,000
SolAlE HES ALY (HEAY) 1,047,000 1,323,000 A 276,000
< 764,100
e 282,900
401 Al HIZ 201 8] 1,047,000 1,323,000 A 276,000
< 764,100
e 282,900
01 A& HI 1,047,000 1,323,000 A 276,000
O=clAlE HE==AL 1,047,000
— M=K ZBLXZALALY 2,333,333 2 *6304 & 147,000
< 44,100
[ia 102,900
— M=K 2B - 22AY
900,000,000& =12 A 900,000
< 720,000
[ia 180,000
IsFt =3 N 50,000 75,000 A 25,000
= 25,000
e 25,000
401 Al HIZ 201 8] 50,000 75,000 A 25,000
< 25,000
s 25,000
01 A& HI 50,000 75,000 A 25,000
OJNsHSY S+ HEAMS
25,000,000 «2J4 A 50,000
< 25,000
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EXN: A4
M =& AST|Y HE
Sl ZE84 Y EERED
- _ _ RE]
SA BB (3H) - NRAY - B S Ol At o %Eﬁ HRE2
| | o 25,000
s 2 H2AE &= 6,028,863 5,752,288 276,575
= 53,904
== 309,405
= 5,665,554
Folmol JaAMH(s2 L =2lAd) 5,635,648 5,545,288 90, 360
401 AlEHIZL 201 Y| 5,635,648 5,545,288 90, 360
01 Al&H| 5,587,296 5,502,437 84,859
2= 929,812
—B=E 242 EX2A 175,420& = 150m 26,313
— 243 X & s EZEAZA
185,475& *80m 14,838
— 2NN & 42 AXZBA
164, 866& *150m 24,730
— QA ESXZ 2 AXIZ2A
221,587 & *80m 17,727
— Q4 A E HIE=Z2 EXZ2AF 57,8882 +500m 28,944
— S8 =2 12 X Z2AF 494,600 *20m 9,892
— 22 23 EX2A 221,590 =100m 22,159
— S Z ) EXZ2A 314,745 x110m 34,622
— ez s ZEHZ2A 185,475 *80m 14,838
— s =sg=2 28 222 AL 75,1802 *500m 37,590
—N&ES =& &EXZ2A 353,285& x70m 24,730
—UHES0S & s2 228 LU A=A
415,480& *50m 20,774
— =280 ¢ s EXZ2A
4,396,444 *9m 39,568
— N2 =2 EXZ2A 360,071 x70m 25,205
—HE0IES sTEESA 222 ,5753 *80m 17,806
—ME0IE &2 ¥ S2EAZA
309, 1253 *80m 24,730
— A2 s EZEZA 122,003 »300m 36,601
—NH LS s EZESA
148, 320& *x240m 35,597
—SE2TE 242 AE040/Ee EXZ2A
96, 1922 *250m 24,048
— =5 M4EZ S22 ZEAZ AP 187,780 x100m 18,778
—FE 2 EXZ2A 221,585 x70m 15,511
— 22U & @ s EHHISA
395,680 x25m 9,892
—HEQS T2HH s2 Z A ZA
158,280& *25m 3,957
—HE 52 28 22 EXBAM
49, 460& «150m 7,419
—CelfE 2842 @M EXZSA
49, 460& »400m 19,784
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2N
X ZH -
L= B

el

A4
SE ASIIY 25
=2 o 22AM 25

SA - BB B () - MM - BES Ol &t o San HmEET
—HENS Celdd 22 ZX3M
49,4603 *300m 14,838
—FUEE 2 M AXSA
49,4602 *300m 14,838
~ 12 MBS S2ERBA 197,850 *40m 7,914
~FS0IE YEF S2EF L ASDA
379,200 *60m 22,752
— 3 NE= sZ2ZEH3AL 151,680& +150m 22,752
— G4 Mel sZ2ZF3 AL 160, 1573 *210m 33,633
— 22 F=FAL 4SS =23 A
247,300 x120m 29,676
—UHsSOtS NE= =2 EXSA
179,854& *110m 19,784
—=8 2 LT SAM 53,700& %350m 18,795
— XAHOLE B2 & XIS AL 148,380& x200m 29,676
— ST BEXELAIA 927,375& *32m 29,676
—Cets XFY s2 & SESA
989,200 *15m 14,838
— 5= MHEE s2EZF3AL 98,9203 «150m 14,838
— 8L B2 sZ2Z I3 AL 221,590 *100m 22,159
— &8 SN SZ2EZESA 158,280& *50m 7,914
—NE S=2d sn EX3A
4,946,000 *6m 29,676
—SM0ts =2 SESA 500,000 *80m 40,000
OfRsd¢ 780,406
— 28 a2 MEX3A 247,300 *x200m 49,460
—g= =2 22008 EX3A
263,800 *60m 15,828
— s Uel 805-181Xl =2 &I A
741,900& »10m 7,419
~ 202 SHH+2 SXBA
219,822 *90m 19,784
—gEZ otAE ZEISA 59,352& *500m 29,676
— 22202 02l E =23 At
222,575& x120m 26,709
—&E3el 7678 X =2 S At
263,800& *15m 3,957
— 0lg S4tel 1203 sti==2 A XIS At
222,575& x80m 17,806
— DN s=23A 214,333& x120m 25,720
— Q4 AS 2 A HEESA
45,3383 *1,200m 54,406
— 25N =2 XAt 222,575& x120m 26,709
—UEA 2RI SA 148,380& *100m 14,838
— 4o IHE A3 593,528& *70m 41,547
—3H0E st=2 A 197,840& *150m 29,676
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2N
X ZH -
L= B

el

Fag=nl;
s& ASD|e
sS2 % =clAl

= _ — d =
SN FE - EA(SA) - MEAY - BES 0l &t o il HImEET
—GHEIsS F sZ2ZZ 3 AL 164,866& *120m 19,784
—2S0tS ot2 =2 AEOdI0E SA
148,400& *20m 2,968
— 2208 =EE =23 At
325,028 *70m 22,752
— 13l s=2 MEXSA 237,410& +100m 23,741
— 88X FE sti+=2 SA 226, 1143 x70m 15,828
— G Xlel 144691 X =23 At 276,980& «100m 27,698
— &N =2 XA 227,520 «100m 22,752
—=cl A0 018 X & Bi+==2 SA
294,108& *37m 10,882
—&tXl =8 s ZF S AL 217,630& *100m 21,763
—S0t0tS =2 EX & s IAM
544 ,100& *20m 10,882
— 105 ¥=3 SZ2ZEZFSA 164,866& *60m 9,892
— 232l 8898l =2 ¥ E2ZESIA
186,211& *85m 15,828
—g= Slhel 367HX s EZE A
224 ,818& x22m 4,946
—HdFNE S2EEIAM 148,400& *40m 5,936
—2¢el ¢EZS SZEESA
148, 380& *200m 29,676
— 242 OtAE HEZE S AL 54,9553 %450m 24,730
—Xdel =2 ZXI3A 362,706 *150m 54,406
—Xdel T S & S2EESA
141,314 *70m 9,892
— A0S Hi=2 EXI3AL  273,938& «65m 17,806
— S LES F SZ2EEI3AM
267,090 »100m 26,709
— K& =2 X3 At 400,000 *50m 20,000
— HEY0ts =2 X3 A 180,000& »100m 18,000
O&gdd 1,087,031
—JI= DAY s2 A=Z A 593,520& +50m 29,676
=02 susH a2 853 A
373,700& *90m 33,633
—JI2 0S2 a2 EX3A
276,980& *50m 13,849
—4Ad B2 HESA 283,573 & x150m 42,536
—3F &= =2 EX3A
296,760& x100m 29,676
— &8 W NS A 989,200& *15m 14,838
—dE SEE sZZF3AL 148,380& *100m 14,838
— &8 =X 2 SREE A
141,314& *70m 9,892
— 2% W2 s2EEIA 152, 1842 *65m 9,892
— M2 EF2 HESAM 494 ,600& *30m 14,838
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fN: AL
M sE ASI|Y 2
gel: s2 & 2lAE =25 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
— AN 2 HES3A 197,840& »200m 39,568
— &8 U8 SZEZESA 158,280& *75m 11,871
—&E U =2 X3 A
217,630& »100m 21,763
~BEE 848 +2 U 4T AXZA
989,200& *20m 19,784
—01Z0tS & =2 EX3A
346,225 *80m 27,698
—0lg s2ZFISA 151,294& *170m 25,720
— 2= =2 ZX3A 247,300& *200m 49,460
— U= 24 s2EFE 3 AL 141,3963 «260m 36,763
~ 20 ogel sRAEIM
494 ,600& *60m 29,676
— 08 2AE sZHES AL 370,950 +40m 14,838
—0& JI&Z&= s2 A=3A 494,600& »60m 29,676
— &8 Y S2ZEF M 152, 184 & »130m 19,784
— 58 = SZ2EZFSA 152, 1842 *130m 19,784
— 0ol SY0lE SZEESA
148,387 & *80m 11,871
—GOtF axclEs sZ2Z 3 AL 148,380 *200m 29,676
- g8 2FLB SR BA
148,380& *100m 14,838
— 28 UENWE =2 3AL 282,628 +70m 19,784
— 28 U2ME OtAE IS A
49,4603 *400m 19,784
-8 s=2ZFIAM 120, 1212 *140m 16,817
— 2N SEEZTSA 211,971& x70m 14,838
— 2N =2 ZXI3A 176,642& *140m 24,730
— Y S22 A5 A 593,525& *40m 23,741
— &3 ZHel =23 A 244,006 & *150m 36,601
—J3 s A3 M 494 ,600& *50m 24,730
—Hedl s2 a3 At 741,900& *40m 29,676
— 24N S EZE I A 197,840& *50m 9,892
—ACHISE SEEESA 100, 000& *200m 20,000
—&EE AYZ2 HEEIZ AL 375,000 *400m 150,000
— &3 ME JNYZ ST IA
428,571& x70m 30,000
—otF 22 2 HESA
500,000 *100m 50,000
o4 808,238
— 0l SE2EE s+=Z2EX3A
247,300& x150m 37,095
—EHa =2 SEF S AL 339,171 +35m 11,871
—GtALLY OIS 9 s2 A3 A
593,502& *50m 29,676
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A AL
M sE ASI|Y 2
22 s2 & elAE &5 (&)
SN FHE - B(SA) - MRAY - BHES Ol &t o4 San HlBE2
OotA o 772,790
— =32 =23 A 228,276 x130m 29,676
—=23c 2204018 AXISAt
73,2743 x270m 19,784
—&TE Flel OtAaZ2 ZE IS A
65,288& *500m 32,644
—=3cYF =23 At & =3 A
52,758 & x600m 31,655
— 20t SZ2EF I A 39,569 *550m 21,763
—FN0tS ot OtA 2 ZEIA
207,740& x100m 20,774
—0t0IE s2EZE3A 208,833& *90m 18,795
—S=E x2S A 824,333 & x60m 49,460
— MEIOIS s28 0tAZ2 ZE IS A
75,840& x300m 22,752
— 3¢ FE 2 L ST UHSA
395,685& *70m 27,698
—ddltEs s22& % JdIoEEXSA
272,037& *80m 21,763
— AAMOIES OLAZE ZHIDA
61,825& *400m 24,730
—&ole] s2EESA 329,733& *60m 19,784
—S2M A4 & sZ2ZEZEI3A
412,166 & *60m 24,730
— SZ20t2 =23 At 423,942 x35m 14,838
—SEIES s2EZESAM 148, 383& *240m 35,612
— A0S OtAE EZEHIAL 65,9463 «300m 19,784
— &t 2 X3 A 317,957& x140m 44,514
—Oof4tE =2 WHSA 346,220 x100m 34,622
—EX0tE =2 & AF3A
263,786& *75m 19,784
— Ot&0IE =2 AXI3AF 226,107 *140m 31,655
—QQAOE sZ2EESAM 148,381& *160m 23,741
—SHE s2EZEIA 197,866& *30m 5,936
—AR0IE sZ2EZE3AM 148,400& *40m 5,936
— M0t 2 AXI3AF 152,184 =65m 9,892
—Y4== =2 EX3A 152, 1843 *65m 9,892
—ZE0IE =2 AXI3AF  158,280& *50m 7,914
— =& =2 A0 018 EX3A
395,700& *20m 7,914
—OtLH= =2 XS At 98,925 *80m 7,914
— 302 =2 4XI3A  98,920& »100m 9,892
—2Z0ts s2EXZE 3 A 98,920 x100m 9,892
— 5202 sZ2EZE3AM 148,380& *100m 14,838
— S E0t2 =2 AXI3 A 148,380 *100m 14,838
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2N
X ZH -
L= B

el

= _ — d =
HE - B (3H) - KA - BYS 0l &t o il HImEET
—ZElS sTEEIA 123,650& *80m 9,892
—QH0S =2 M EX3A
329,733& *30m 9,892
—Agiis s2 JISd Y EX3A
39,570& x200m 7,914
—A0ls 2 AF3A 494 ,600& *30m 14,838
— SHEE a2 AXI3AF 211,971& %70m 14,838
—HS=S 52 ZTSAM 250,000& *80m 20,000
orgd 609,019
—Jt80ts RF= SZEELESA
148,387 & *80m 11,871
— 230t= =2 EHI3A 183,714 *140m 25,720
—JlB0IE T 28 SEEZESA
148,380& *50m 7,419
—JlE0S Sz S2EZESA
148,383 & *60m 8,903
— WSS s2EE 2 =2 X SAM
329,733 & *60m 19,784
—UHADS OLAZEZEZESA 31,902
~CADNS SREHE U SHEAIDA
329,733& x150m 49,460
— A0S s HEHSA
175,855% *225m 39,568
—&=20t2 JtEd Y XS A
148,400& *40m 5,936
—SS02 HH EXSA 219,822& *90m 19,784
— 30t JHEd g EXSA
148,384 & *65m 9,645
—=sltS slzlicls sZZZSA
148,384 & »125m 18,548
— SEOS H=2 HAHB AL 222,575 *120m 26,709
— 2402 SYEX ¥ s2EZEZA
46,2283 x70m 24,236
—GtEOtS AJIE S =23 At
197,840& *50m 9,892
—dELSE ESHZ SEZEIAM
263,800 *30m 7,914
—HEYIS s2EZFSAM 145,009 »220m 31,902
— otz i AXSA 284,890& *200m 56,978
— &ot0tE2 =2 AXI3 AL 185,480 *100m 18,548
—ot=2d0tE s EZESA 173,112 *80m 13,849
—ot=220ts =2 & th+=2 EX3A
210,212& =80m 16,817
—OlEOls =2 S EX3AM
351,016& =62m 21,763
—ZotOtS FZ A EX3A
237,420& x50m 11,871
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2N

a4
X EH . ==
(=R B [ Jpyw—
=2

LS S
Ehel =ClAlE &= (&)
SN FHE - B(SA) - MRAY - BHES Ol &t o4 San HlBE2
—SA-id BELIDA 666, 6662 * 150m 100,000
— 24 AlE SREHBM
500,000 *40m 20,000
O -8 =27 FI3A 600,000
— RS 5,000,000 2004 2 100,000
- 239 5,000,000& *20H 2~ 100,000
—&3H 5,000,000 2004 2 100,000
—Had 5,000,000& *20H 2~ 100,000
—otd 5,000,000& *209H 2~ 100,000
—2g9 5,000,000 2004 2 100,000
03 Al =20 HI 48,352 42,851 5,501
OfR=8 9,706
—FUHAXZAISE (52 & =2lAld) Ald
Sl (422) 889,812,000& *1.0907% 9,706
Of=dH 8,344
—FUHAXZAISE (52 ¥ 2AE) AL
SOl (34A) 742,406,000 *1. 1239% 8,344
Oddd 8,969
- FOUHATAMY (52 L S2/AE) A&
S0l (352) 822,031,000& *1.0910% 8,969
OX AT 7,792
—FUBANAAY(SE U 22AAL) AL
L HBI(3621) 738,238,000& *1.0554% 7,792
Oootd ™ 8,210
—FUHAXZASE (52 & =2lAd) A4
SOl (372A) 752,790,000& *1.0906% 8,210
orgd 5,331
—FUHAXZAISE (52 ¥ 2lAE) AL
2yl (232A) 489,019,000& *1.0901% 5,331
U= AND (2L +2lA4) 279,500 207,000 72,500
< 279,500
401 Al B2 28I 279,500 207,000 72,500
< 279,500
01 A& HI 279,500 207,000 72,500
OFeU=JAA Y 279,500
— 332 ZHISA 750,000& *20m 15,000
< 15,000
—XALE =2 AX3AF 175,000& *40m 7,000
< 7,000
—380ts =2 EX ALY 150,000& *50m 7,500
= 7,500
— AAMOIZ B2 AXIAFY 200,000 *30m 6,000
< 6,000
—EF0t2 =2 XA 200,000 *60m 12,000
< 12,000

- 431 -




2N

Fas|
A =& ASIIE &5
SR Z2 U S2lNE HE EEREED
SA - BB B () - MM - BES Ol &t o San HmEET
— A0S ASEXSA 1,250,000& *40m 50,000
< 50,000
—HNZEE s2EESA 153,846& *130m 20,000
= 20,000
~AQE HUHIIZ SREEDA
200,000& *200m 40,000
< 40,000
—otg0ts =2 ZE3A 285,714& x70m 20,000
< 20,000
—OHatOtE 2EO0S HE 2 S22 ZA
428,571& x70m 30,000
< 30,000
—U=0tE 4=8 € S22 SA
142,857 & *70m 10,000
< 10,000
—SENE 2 EZXAY 150,000& *100m 15,000
S 15,000
— SH0tE =2 XA 160,000& *50m 8,000
< 8,000
— =20t sSZTEZZFSAE 150,000& *200m 30,000
< 30,000
—JtE0tE s2EZ&E3A 150,000& *60m 9,000
< 9,000
20201 7.28+8.11 HAHZTA (52 UL S2/AA) 113,715 0 113,715
= 53,904
< 29,905
s 29,906
401 Al HIZ 2018 113,715 0 113,715
= 53,904
= 29,905
s 29,906
01 A& HI 113,715 0 113,715
O&otel HYE EFSA 631,750& = 180m 113,715
= 53,904
< 29,905
s 29,906
cRA4 2 7,695,760 4,695,852 2,999,908
= 132,055
- 1,374,000
= 485,000
s 5,704,705
F U= ALY 2,063,864 1,685,500 378,364
= 85,000
[ia 1,978,864
FOIHO NRAY (O, TYR) 1,978,864 1,502,200 476,664
401 AIEHI L 2 CHYI 1,978,864 1,502,200 476,664
01 A& HI 1,959,568 1,486,531 473,037
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X ZH -
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=8

o ux
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1% E

SN FHE - B(SA) - MRAY - BHES Ol &t o4 San HlBE2
oge=g 288,852
— ZCAOHIHE et =2 &EXI3A
226, 1143 x70m 15,828
— A0S oH THEZEH B AL 32,432& +305m 9,892
—3&0ldl et THEEIZ AL 76,944 «90m’ 6,925
— oStz MEHIA 83,4683 x160m 13,355
—S=TUZ HEZFS AL 20,5693 +1,587m’ 32,644
—ohF o SHE SHESA
1,978,400& *15m 29,676
—EEL0QAR 2 EXISA
230,833& *30m 6,925
— & Z oY M= Z A} 301,065& *92m 27,698
— MOlADIE oY HAZ HXIBA
224,818 x110m 24,730
— 20232 € S2ETZAM
3,532,857& *7m 24,730
-~ 2HOS HWASEY 5 HE2A
890,333& x15m 13,355
— =302 & =AE MEZESAM
19,578& 960 m* 18,795
— =30t o+ HEZE AL 108,815& «200m 21,763
— ol WAR SHEXBA
692,440 *50m 34,622
— 2y ot EHIAZ A 316,560& *25m 7,914
OR3H 245,819
—&oh 2202018 X ¥ EZHESA
247,300 *30m 7,419
—SEIS & A=F3A 1,187,050& *40m 47,482
— NMs0tsetd =2 AE 4018 X3
At 565,257 & x70m 39,568
— =SS0t ot OtA 2 ZEIA
19,784 & 900 m 17,806
-2 MAZ MEEHSA 32,973& »150m* 4,946
— SN Y2 G2 XS A
319,600 *65m 20,774
— S0t o2 =2 XS AM
423,942 x70m 29,676
—HEMEHZE o2 HEZSA
137,388& *36m 4,946
—Ag StnHE FEEM XS A
659,500 = 18m 11,871
— Selits ot EFHIA 989,200 *10m 9,892
~ 22025 o WA AXIA
178,060& *50m 8,903
—XNs0tE &2 A=ZA 395,680& *25m 9,892
— 2202 & 2 (HAH)E XS A
227,520 x100m 22,752
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fN: AL
Hu: c2AS e
Sl FUSHAY CEEED
= _ — d =
SN FE - EA(SA) - MEAY - BES 0l &t o il HImEET
< 85,000
401 A& HIZ 201 I 85,000 183,300 98,300
< 85,000
01 A& HI 85,000 183,300 98,300
OdsHH & HATHEEFI AL 250,000 *100m 25,000
= 25,000
O=R0IE 282 A=3AM 250,000 *40m 10,000
< 10,000
O3d0IS =2 EXSA 200, 000& *100m 20,000
< 20,000
OZo0tE otA2 X & & Jt=de EXI3AM
375,000& *80m 30,000
= 30,000
orM S T2 2e 180,000 120,000 60,000
CEHFEANLEE (OtEdY) X 180,000 120,000 60,000
401 Al HIZ 201 8] 180,000 120,000 60,000
01 A& HI 180,000 120,000 60,000
OusStdAId=(OtEd ) X & B
150, 000 & *200m*6IH 2~ 180,000
=& SA2el 4,479,361 1,325,252 3,154,109
s 1,374,000
< 400,000
s 2,705,361
ANESHHAE ne ddotdd A 78,000 46,000 32,000
401 Al HIZ 201 I 78,000 46,000 32,000
01 A& HI 78,000 46,000 32,000
ONSHUY DY HLHY
15,600,000& «5H 2~ 78,000
NE(FTE, sHEZZ)MES AL 1,372,323 794,000 578,323
401 AIEHI L 20HEI 1,372,323 794,000 578,323
01 A& HI 1,367,400 794,000 573,400
ORFUn 23 A 161,7642 »136m 22,000
ORZEWN B3 A 1,603,603& *111m 178,000
OXSHHE E==3A 297,674& x430m 128,000
Ogstn B3 At 960,000& = 15m 14,400
O822u B A 5,454 5453 x11m 60,000
O B3 A 1,027,027 & *37m 38,000
O=2&1n It 3 A 53,750,000 *8m 430,000
Oot0lw It Z At 42,857,142 «7m 300,000
ORCTDY WASSEHI 2 HANASY
16, 166,666 *6IH A 97,000
OSQOIXIR IHARHE U SHEZIA
50,000,000 «2J4 2 100,000




M. (3H) - HEAY - B2 %gg HRS2
03 A& 20H b 4,923 0 4,923
OnzgE=E4 2 TILE 2 A Al 20|
1,367,400,000& *0.36% 4,923
Z2ERNES 50,718 85,252 N 34,534
201 Bt A | 50,718 85,252 N 34,534
02 352494l 50,718 85,252 N 34,534
OZ&hsd 2lMHE &) & S22
1,583,000& ~6& 9,498
Oz 11ad EXNaAHHE &I L A2
3,330,000& «6& 19,980
OZE208d X2MEHE HIIL=2
790,000 »6& 4,740
OFEHZY (BHA) MIIOHMZURIHSE =22
1,125,000& = 12& 13,500
OEX~&H2EZ CCTV SXNE X
90,909, 000& *3.3% 3,000
HEIXF FE2 SEHSAS ,374,000 400,000 974,000
rag ,374,000
401 Al HIL 201 ,374,000 400,000 974,000
rag ,374,000
01 Al&H| ,364,107 397,120 966,987
ORZS-2d0 23T 2L (HEIAET
223 37) 3,503,999& *850m*45.8% ,364,107
rag ,364,107
03 A& 20HH| 9,893 2,880 7,013
PES-BYUHH QIS Z2IMWEAMND(HEIFEE
223 31) 1,374,000,000& *x0.72% 9,893
hag 9,893
202 XY THILE Z A ,204,320 0 1,204,320
401 Al HI L 200 ,204,320 0 1,204,320
01 A& Hl ,200,000 0 1,200,000
O=x0t2 &g MHILE B At
52,631,578& *38m*60% ,200,000
03 Al& 201 1] 4,320 0 4,320
O=x0t2 &g THIIE B A
1,200,000, 000& *0.36% 4,320
olxZ1W RHOIE Z A 400,000 0 400,000
400,000
401 Al HI L £ 0HHI 400,000 0 400,000
& 400,000
01 A& HI 400,000 0 400,000
Odtx1W THIHE B At 58,823,529& *17m*40% 400,000
= 400,000
A& A 972,535 1,565, 100 N 592,565
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EXN: A4
M T2 AL 22
Rl 2 AIEALY (2 &HH)
4
SA BB (3H) - NRAY - B S Ol At o %Eﬁ HRE2
= 132,055
= 840,480
ZEAE 29 J|2&H| 4,920 5,100 A 180
201 Bt 49d]| 3,120 2,100 1,020
01 AP 22| H| 3,120 2,100 1,020
OYRFE HA 222 2 3,120
— EU4HII2IEX 250,000 34 750
— EEIIEL X 450,000 %24 900
—JeiZATEN 490,000 *3& 1,470
202 044l 1,800 3,000 AN 1,200
01 2L HI 1,800 3,000 A 1,200
OZTANE 2829 JI=2Z4| 1,800,000 1,800
o2& Y sHEEZZ HE 524,150 1,440,000 A 915,850
1T AIEHI L 20| 524,150 1,440,000 A 915,850
01 Al&H| 524,150 1,433,232 A 909,082
Ot & sHEZ2 WEHEZA
100, 000& x1,000m 100,000
02 2 S0&EER 2227
200,000 *1,000m 200,000
Ot ¥ sHETZZ HEAMY 224,150
—2E5S(HEXN ) MEE L B AAS
MAIEHES 1,000,000, 000 *7% 70,000
— 155 (AF, UE2) HEZ 2 diz=IH& A
A AAEHESE 1,000,000, 000 *7% 70,000
—EHHH SHECZ(BA-BE) SEHLA
A AAEHESE 1,000,000, 000 *7% 70,000
—PC Y SOESR HHANY EYLLES
283,000 x50 X| 14,150
S sHETZZ2 HAAY 311,410 0 311,410
401 AlEHIZL 2 0HY| 311,410 0 311,410
01 Al&H| 309,250 0 309,250
O sHEEZZ NEAY 309,250
— B A 57,142 .82 x5, 250m 300,000
- =5% 2 2HYIS 242
185,000 x50E! X| 9,250
03 AlE 21| 2,160 0 2,160
O822Hd sHETZZ HEAY 2,160
— AMAE20E Y| 300,000,000 *0.72% 2,160
2020 7.28~8.11 MolERAME(E2)(EX) 132,055 0 132,055
= 132,055
401 AIEHIZL 201 Y| 132,055 0 132,055
= 132,055
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A AL
M 2 AE 2e
o2l ZEAEAMNS (&)
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
01 A& HI 132,055 0 132,055
OZE178(EA) sl=s7SA
1,208,254 & »55m*68. 79% 45,714
= 45,714
OZE55 (UHE) =R 3 A
637,6253 *104m*68.79% 45,617
= 45,617
OZ&E35(8BE) =SS A
2,368,000 *25m*68. 79% 40,724
= 40,724
ANEX& 364,815 6,290 358,525
s 255,000
S 31,200
s 78,615
ANE X 364,815 6,290 358,525
s 255,000
< 31,200
s 78,615
AMEXE 29 J1234l 5,815 6,290 A4T75
201 Let24d] 3,915 4,290 A 375
01 At 22l 3,915 4,290 A375
OZgy 2a2E 7Y 175,000& *53| 875
OAMEES ¥ 120,000& 1228 1,440
o=l 8,000& x2H 100 1,600
202 O4dl 1,900 2,000 A 100
01 = LH 4 Hi 1,900 2,000 A 100
OAMERALEFA 1,900,000 1,900
MEDS MY (sHE HAXG HZAY) 359,000 0 359,000
s 255,000
< 31,200
s 72,800
403 MtXISH S X201 & 359,000 0 359,000
as 255,000
< 31,200
e 72,800
02 S 2SO0 HEHAHE X 2 E AL B 359,000 0 359,000
OZHOIES HAXNSG MEHA HEZAEY
35,900& x10,000m’ 359,000
s 255,000
< 31,200
[ia 72,800
HY2AZ G (AL ) 15,624 26,880 A 11,256
Jl234l 15,624 26,880 A 11,256
2AH J1=2Z| 15,624 26,880 AN 11,256
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S A
X{ XH - SH
L= B [s=}
el Ol

SA - BB B () - MM - BES Ol &t o San HmEET

201 Le-2d| 5,544 10,080 A 4,536

01 At 22l 5,544 10,080 N 4,536
OJlegexa 21,000 x22H «12& 5,544

202 oddl 5,280 11,520 NB,240

01 = LH o4 1l 5,280 11,520 A6,240
OJlege=ad 5,280,000 5,280

203 YR =] 4,800 5,280 A 480

04 FEANSEHE=LH| 4,800 5,280 A 480
O&F&A 302! olat 400,000& x12& 4,800

HRas(H4) 200,000 40,000 160,000

HEAHHK = 200,000 40,000 160,000

2AZ0EHIII=s HEEZ 200,000 40,000 160,000

702 JIS3HES 200,000 40,000 160,000

0ol=dsE= 200,000 40,000 160,000
O=&ZNHEII=a &3 200,000, 000& 200,000
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